s ==
LS 25E 2 M A OHKED | (OHKED])

0

ELl
G

Rr
B

ol
&l

X0
o4
A

0l

D
I8

0l
xr
Ki

1

—_

nJ

Kk

°=F
M <

2|

- =

o)

EHHE

H

H B

A

0

3

OICt.

A0I Xt

2
[=]
=

A
o

AL, €S el
ES

=40 2
H=

A
o

-

A
=

ol

0

T ULk
NZ2A HAHESZ
bl Oed At==St
DLIRS JIHIIRY

MAd=0ILE

(3

—/

o

N

—

—

| —

—
&6t <

MEXIIZ

S2H|
M=Z

|

S
=

=
=

MOls=Z2l

—

oI M 4ot

b QUCH

Ol
=
IEPN

MZ 2l
Hdoolgsel IURS =W =t BsSXN2AM 2,500~3,000

=]
=2
=

=

=
=S
A=)

N |

9]

=
S

70% Ol&0l A=

OtAIOIRt =
=l 0=

LFOICH.
200 T

=2 ool X
O JefUt S StR0IA

=
=]

o2 0
MA& O K| (Scirous  planiculmis)

[e)
ju—

9]

o
—

o
=
2|

I ’

=P\

=&
20l
) Xt

B

O ol X

o
E!
7}

ol
ioll
3r

o)

o
Trol_l

AoZN BMO A4 &

A& R R

—

—

o2
E

WA

e

u]

OF

<1

-

n0

e

n0

SN

SHO0IAE MEDHADS

HOHl

&0l Al=0otCh.

=l

F=r 4 EH H|
T FRUOIAZE "MEXII”

oJ
o

oy

N
ol

JJ
=

ol
00

| A
S

H=0i

9

F

22

9]

F2H0IA=S M

M2

3|

E

ot
O otrdENAH MAK Ol Al

(=)

H

jVE



nl
K0
bl
10

o

)

ol
70
%

)

]

ol
Rl
Ho

O ot=2l =2 EM HolE MSIHAII<

=l 1

OIZ0! LK

=
=

Moed |17

“« 2y
E

ot=22

oF
il

oK

00

A9 U

i
IH

ol

R0
o
Rr

-

ol

th)el =al-s

oll
H

ol

b= O XIS (

110

(HO

-

ar

o
<

==
1o

00

un

&D

Kir

AR
=

2 XNBA OlsA

=
e

RO
KIr

ol

00

K

RO
KIr
11
ol

g

B
oll

IH
a0

o]

5 MESH

M&OHAD12] HE

ot=

= M&HAD]

Ol =45t

KIr

o}
B

a

n0

=
20

K

R

A0

|
(=}

dol e ds =

b

k=1
—

O M&EOHXI12

0
70
ur
KO
0

!

H
Ho
I
30

0
i)
n)
0§

A
Al

2t 0
15X/ J1E s

Al
MO

0l

(<3
=

T sXA=EX0 MEOHXI] Al

ol
ok

o)

=
ju—

— OIAJAl AITHAIDI2F A2 Xl &FEHOI

)
Ll

&l

2 AF0lA

ol

S 220, olE0l bl

<4

720l 84.2 AlIZt2=2 T

ol

886.1 mm = 20¥@ HLQl 129.9 mm<el 78i=2 WA Hl

a

= N

O 2009 7O

886.1Tmm

|70 90mmel JIS§



el Z20t Uel8A, 43 o5 === 25 oK =822 U=

JE!
g= A SIHAIRULCH

£9| pHE 7.210A 8.83 B2 ZAEIJUCH, HIINMEZE(mS/cm)= 1.48%
Bl 42.432 HeIZ W 20.44(n=16) LIEIURAULE FE=sE (%)= A2t =
SIRE 730 0.72 JtE EUALH 3F 31.92 =0l It =2 BEsk

o 2ZE AL S$E(NTU)= 3.70lM 32622 HeIQl =01 I LIEIRCH 3
Hi(ppm)= 6B 0 2.299E 729 8.482 HeJt SZERULE E2(ppm)2
63122 0.10, 7292 16.33 2= UEHLL

S EXE St 165 24A2 S 8D 2 28 29.7%, 33 27.3%, 42
31.4%= F=ol ofsotflH E822I el 7280l 4%= ZOtHCH A
JI2tsot & HA2 22.3%2 NPT J+=H0| SXEUCH
SSZot70l =XZot= MEOHAIDIS 2005E 10 2009E 2] MNE2EHE 2 242)
2,892,541m?%, 2,510,630m°22 AIZ9 RLZMHINZ2 ZENSUSH, Sol X
HHOl Bt I LIEHGCEH

S=5 M0 2XEots MDD B2 =10 51.90 £12.49cm 2 LIE}
StCh 2003E@ 85cm 2L 70%01 = OlX= d&s 20

SHCWHY 2EoHs MERIIY UEsHs O, U NAHAN SRy
(m?) 42182 0-20H2 MHHE AIRO2 62202 14, 410HH, 7HIYL 290/ A
7EHME XIS 2t 3t 014l XH0IDF BEEUCH XA B SHEo=Z R

MEOHXDI XotR0=s HSE M2 =203 1ES ddstth. &2 =
201g WZ9 U (m?) & Lot A5 25 30-40cm ZO0I0IA DHE
=2 0l 2Z-ACH S22 40-50cmlilA 22 HIZ2 1F0l 2ELY



Ol 0%2 LIEFRECY.

O

pom

oF

oy

=
—

o
4dr

20

0l 15€ 0l

=
E=S

N

XS0 SE0A X

18-20cm)2 +

o O

=
—

=1

H Z0IZ(9-10cm, 13-15cm,

e SIS

N

1<)
K
%0

ol

~

-

20

ol
Rr
1)

0

ok
oll

J

180
10

0

<l

Ct
S

Cte =2

TIHA|

=

-
=
=

L+ Ol

= 100l
PBSOHUEAN BEH

H O
R

/AN —
L

[==}

==
=

JH&0l
tALCEH.

F

IWMIZ AlTHel XIE2 2mx 2mel S 2LH0IA 8
(o]

3

(it

IHHIDF

S

0l
[

=
() | s—
NS S0

NG

= =o

SAl W
2 LI HEE0l 62%= 0l

t

(i

= 3HM <

XH

I

S
Al
=/

|

ol
0l0
ol

ol
=
Al

&l

19

nO0
o

ar

b

A20A =

=
[—

},

P

o

HIAl

b X

9]

teloll J10d4

el
—

Of =+ EH Al

il e

o)

JJ
>3

ol
i00

o
(=]

O MEAD |22l H=0

i
10}
il

=
RO
&l

I+
0
o

M&OH X
NP

=2

—

4 Mz ol

=

0l &

—/

cH

10

KA AE M&EOHREDI

=] =)

H stzot=2l

t

(i

=
18

tot=t2l A& OH AL

2
[=]

o s

1o

oo
ol

Uk

ol
Kilo

J
s

nl
<+

ol
o)

-

20
<]
H

oK

)

o)

o

ol

_iV_



